Q@ 24 3 37 @ 42 B 49

D 9






3. 90, 2*x3x 5% o FHFoFp=?

@D 2x3x5 @ 22x32x5 B 22x3x52

@ 23x3x%x52 B 23 x32x%x52






® 2

— | O



12

@ 3(2-x)

D x+4=7

® 2x-5=-1+x

3x+ 10

® 4(x+2)



@ a=2 @ a=-1

Da=1






9. ofH 4 x o 2ujnrt 3 0] 2 47} 15 ofc. ofH 4

D 9 ® 8 B 7 @ 6 B 5



10. @7 ol 2|9] Lol te] tole] 3uo] A1 15W Folli the] o]
of 207} Hek. @A obl 79| vhol?

@D 36 ® 39 3) 492 @ 45 ® 48



11. o5 F 39 vl A2?

D 124 ® 263 B 772 @ 305 B 273



12. 14 9420 9] o= A0 2 o] & u| 2|7} 7 1 4 Foll4 71 2L
A 7 o] A A%

@D 145 @ 146 3 147 @ 148 3 149



13. og 3 9PoaRdY At 4 W 5S4, APoRRHY
A7k Vg ke 28 B B W, A+ B O S FoHH?

10 3
-—, 2.5, 3, -, —-12, 0
3 + * )




“l<a<0d¥ ot

14.

—a

a

@ a?



15.

FAFa, bl Hotd axb<0, a<b @0, h3 F B

@ a>0 @ b<0 @ axb>0

@ -axb>0 ® ax(-b) <0



16. Al

E1s

LN

a, b, c ol st axb =5, ax (b+c) =3 L M, axc 9

D 2



17, o® AolA 2x +

5 2 gaflof oF AL FEa)A melEL] 4x — 6 ©]
=oich & A4t

D 4x-6 @ 6x-1 ® 6x+3



J
-

® 60 B 62 @ 64 B 66

@ 58



19.

Qo) Ape) 5247k A9 Ae) sApueh 3 2

QIek. Qo) ke £7het A1) 2pe] 245 v
1 &t} e =9

A 34 ® 47 B 36 @ 25



20.

A10] Azl o] 57471 49 F A AA47E 9l o] 42] Qo] Az ]
Se7he} Alo) Ael o] $A1E HHE § 2 v 9 AL AL 4mr 630]
acha gk 4L 52 Foole

D 41 @ 42 ® 43 @ 44 ® 45



